SRR T R 106 # FTERR SRR
870 'uﬁuz TR

APl 144 B2 085

B1ag

1 ﬂa;#&y' T(A3 ¥ 13R)
TR AIBEHRRLTLT I E R
3 ﬂxpé&zpﬁim&y 503> BRE 24 > £ 1004 > F* 2BARS e Ek+ FivE o A
pER pé‘“ﬁf\‘ﬁ%’ ‘\55]?;—%]”1?47\0
B AHRARET Y BN LR PP HE PR R FHAE R LB
% B:KIE*E IR T Lrjﬁoéu\ﬁit3/w\7' 1> F4cd ﬂ\;fif\%’,f)’éu Bi RS ;#\f%g‘—*ﬁ’ s B
_ RAWAN Y S VAN
| SRR IS R 0 LR E T G AL
J‘;Fﬁ%‘?\ﬁ%ﬁﬁ*ﬁ MR R T EY > & AETRELE  HEI }@péi%éi@
b'urf,;gx °
T4 R D00 A 4a -
[Bl 1. %#41.0g> ~3F £20 &latm™ & 51.62 2= » FR Z176°C > 3h v &7 LILRF 48 7
(A)E (B)# AL (C) iz %7 (D)F &3 ~ &7 i AL
[B] 2.4 15 B 328§ #8>7200 °C¥ ¥ 1 atm* § B 4 £542422 cal » 3K HHAWE S > 22 2(1
atm.L = 24.22 cal)
(A)0 B) 1 ©)2 D)5
[B] 3. % % #4k1 atm/B # 43 SHBEGET2aA > FRP A Fx P H(cal) 7 (1 atm L = 24.22 cal)
(A) 14.22 (B) 24.22 (C) 34.22 (D) 44.22
[Cl A2 fMAamf@iEET > FMTRBRTEEFY?
(A)% &% & (B)® & iR ()5 B B (D) iR 48
[D] 5.5 § W7 4% #ELPV = ¥ fic> FHKE?
(A)F # ¥ ¥k (B) Cp (C) Cv/Cp (D) Cp/Cv
[A] 6.k &7F bl ¥ABT AR K THPF LD
(A)Y2 %1 <0 FH <0 (B)4 <0 ¥ <0
Oz <0 FRt =0 D)z <0 % =0
[A] 7. a8 #EE T »SER F 7 GBEI0ON > HgHitf 5 5 Scal/K?
(A)0 (B) 5 (C) 10 (D) 50
[C] 8. ARt T R BT RE » THRMRRT L TR LR IILERR?
(MMAQ Bt (B)iR & i ?%%
(C)/ r-u -ﬂi%ﬁfp%“‘ (D)/ L\#”” i d %‘
[A£D] 9. p it (B) ~ 2(H) ~ % (S) ~ BA(T) ~ B4 (P) ~ WAH(V) » #(QLE# (W) B ik > T 7 ¥ 37
(AE=Q+ W (BYH=E + PV (C) AS = Qv /T MD)G=H+S
[A] 10. = 7| o it B0k AT R T AR M7
(A)7 (W) B)p ¥ i (G) (C)2(H) (D)% (S)
[D]11. 4 25°C ~ 10 g7k 5] » 80 °C4fidh > T 5| e % 2 M H 4o ¥ H| T K 5L 5 f 2RALH 2
(A)k (B)4+ ~ (C)iﬁu—i- -k (D)ss + -k ++ F
lLiti#44 8 2 nErpimesd %17 £ 4F (a7 g it ]



[D] 12. s ,L}? —*ﬁi}\(P—l-anz/V )(V nb)—nRT’ % Fs—ryujm.%z’}; ‘5’_‘?

(A) nbE_* kfxr L F 5L 5 WA (B) an’ V' E* kR E R FAEA F Bl
(C)% (He)ea & | *t % (0,) (D)% (He)enb & < >t % (02)

[A]13. 4 B 5.0 °CHLF > 52 F# 5 2730 cal/mole » 3R 15 B R MR 2 %1 5 5 Scal/K?
(A)-10 (B)-15 (C) 10 (D) 15

[B] 14. 33 ERRMAEBAZTERE  MERTAZBOE{feZ AR I6atmE 4atm > 7R F APRRE

Satm o PR AR IR ERRY

(A) 4 (B)5 ©)6 (D) 10

[DI15. R Gt R a8 ™ B B8RS £2 atm > ;2 8R4 E3 atm > £ P F BRELEE 0 5K 1
TR LS9
(A) 2 atm (B) 1 atm (C) 0 atm (D)= **2 atm

[C]16.3:0°C&=100°C F 382 Phosids > Hb a2 559
(A) 7% (B) 17 % (C)27 % (D)37 %

[A]17. 5 1 g Fr - = § BR25°C;A 1 > T { #£200 cal/g » F b7 v 422 pd wc B4 (AG) % %
cal/g ?
(A)O B)1 (C)2.5 (D) 25

[- #1185 102 > 2bar » 20°C2 EF 4 % > TR TR I 200H o HUR A € A 5 Cbar?

(A)9 (B)o6 (C)2.5 (D)1

[A]19. 5 02X B R+ 2 FH2Cv=52R>d10°C4£3110°C> 7 % >cal ? (R = 1.987
cal/mole/K)
(A) 139 (B) 539 (C) 639 (D) 739

[C120. % 2 B4 52 kg ~ 130°C-K & F 250°Ck » 3K A RBABFTH AL > I?
(kv 4 4 K /kg/K 0 100 °C-k 5% 1+ 412257 KI/kg » 100 ~ 130 °C-k %% v+ # 2 KJ/kg/K)

(A) 2034 (B) 3034 (C) 5034 (D) 9034
[Cl2L W T olir & 4 F A LS HEEHELERIF i RE0 o (work)e® LB %0 9
(A)k i B)% #
(©)k (D)i 7
[C122. 5 50°C-k gt FPH FP it KePER 57
(A):4550 °C (B)* *50 °C
(C)]- #+50 °C (D)7 i iR 28 A& 1 A 2] %7
[C123. T4 B A1» “hamsek kE R F k2300 28 BRRRIBEMIHET » 50 THerd
BRABCY
(A)% 2100 °C (B)-]: #+100 °C (C)* *100°C (D)7 i k£ 4 it 285

[B] 24. lfz 2k #* P EL » T AZFF AR B @ i o R R 2 o T gepr > 1 kg/h ~ 100 bar
~ 400 °CH A mEF B A R4S » 78 € 7 1 kg/h ~ 421 bar ~ 550 °CZ T i 1 » 4 & & gt
U B 50,0061 keal/kg 0 4 8 1t 5 -0.1225 kcal/kg/ko FRTE R E SR A
(A)¥ 1 B)7 =
OF v e ArR@EFUFRFHLFFHL D)7 REREEF ZHH 0

[D] 25 3% 32 R Al SupF > g 5 — Ripdr e R0 SR g DA & E R
ROSITRES > TR TR R e R ?

(TR REARS 2 Bt 2% 1t

lLita#4 8 2.0 Frg1i8 % 27 %47



[A] 26. im_]:'ﬁq"‘_'—fhgﬁ)@ 1§—1f§3" T F| 4zt e ﬂ,l_{gf‘?

(A)D » F it X85 F uid 4 B)F et &2 5 kR4
OF BF22%54 24 D) & &g F ikt

[D] 27. 4 A+B=—Dz F ? >4 » Bt HC>» PR T & F Bieid » V& C ${Z B F B & hd

.
Fiw?

(A)i¢ 7 feZAHR < (B)i¢ F e AHR |
(C)# T frer - # (D)# B 8T reni- §

[C]28. % Bt 5 ¥ Heehpcid » 7 7] 4§ 32
(A)TE R P %
B)# - B F Rz i 5 F #H
(C)F Rod kB %~ PF > i 5 F e % F ik 5 %
(D)4e » fELIC B > 3 5 ¥ B S 0 F i F R

[B]29 Qi‘flf'BleleYzﬁ_'gﬁfié\loﬂ* ?E;gﬁ/v él ’F}L g—ffﬁ’ 4’;\‘% —VXZY’
'JZXz—f—Yz;\ZXzYﬁ)@}\" 'lfgf ﬁ;:k("l/—g-ﬂ); w9
(A) 0.3 (B) 3 (C) 3/8 (D) 3/80
[D]30. % > #EXE B2 7= FYE B = §F it ppF» T AXEYPH ko mE LA
(A) X=3Y (B)Y—3X (C) X=4Y (D) Y =4X
[A]BLig &= & & F Jeid FH 4 > TP % 3 LR Flz— 2
(A)7& v i ¥ 1% (B)A & & 65 1& 5 A 4o
(C)& B it e 5 B e (D)4 + R 48 =% #cH 4
[B]32. A 8 T4 5 - F R2F REFRMIAlE I 2 e 02 - F RIFERBIENAER 2
- Lo L ERZ K RBEL R
(A)1 (B) 2 ©)3 (D) 4
[A133. 7 5lir & 5 — sk fi2 i# 5 ¥ fceh 22
(A) (pERE ! B) (kR
(C) (kR (g (D) (kR (pER
DH4+ﬂm$%%@&Li%ﬂ’#éﬁﬁﬁﬁ%’fﬂ&Wfﬁﬁﬁ?
(A)ZE 445 2 2 BE 15330 °C (B)2r 34 H_es (8|
(OF - RS W S D& 2 B4 o Fi,* o F i F il

[B] 35. 22A>B+C2 F k® R=k (A) > F G104~ 4815 > (A) > i Rlwta4ais > (AR
B a27/64 0 Rta w7
(A) 20 (B) 30 (C) 1600/27 (D) 50
[A]36.F B F s ficenfcit - P KRG T AE?
(A)F oAl » &7 F /@s\ﬁ Rk BR R A ARK F
(B)F Js B % 20 F gty Fpndic p
(O) 5 > #2538 e ek dic
D)F afcAks - & i AR

[B] 37. % xitid e =k e %) 55d > PSS #rf| T ehle nd 5 Rkend & 9

(A) 1/9 (B) 1/8 (C)1/3 (D) 1/2

[B] 38. # ¥ BADD » £F fad F H /4 F B 2.0 F RHE 127 B 31 » RE3%F B4
BF O ?
(A)- & (B)= & (C)z= & (D)% &

lLita#4 8 2 BFr 1wy % 3F £ 4F (s p i it %]



[D]39. #3% & § 05 it 5 NO+03>NO,+ 0,2 NO, +O>NO+O; » st & it ® > NOZ @ ?

ARF ehad  B)RF BF kF (O)F Fif OEREE
[C2:D]40. 3/ F Y%ZHz(g)%—Oz(g)%ZHZO(g)mF R v T aeE Lo ?
A[H,] A[O 1 A[H o]ﬂ A[H ]
2 2 2 2
m% ALtz] (B) @gx (D)=
[Bl4l. 5 1A &5 5> & F e it it £35 F Bis a0 a2 > F e $120 K¥/mole » B & F Ji
/r'l At ; i ?
(A) 120 KJ/mole (B) 240 KJ/mole (C) 360 KJ/mole (D) 60 KJ/mole
[Al42. 2 F R 350 %R 2t 2 375%5] % 287.5 %2 Bap/lilot %F i ™
(A= %F & B)=z & F & O)—%&F & D)E 5 F &

[A]43. % F i » BX Fherdednlb B2 F 0 o BIF o 2875 % Bt 2 F % 250 %t
2B TR LR

(A) t,="Tt (B) t;=>5t, O ti=3t, (D) =2t
K1
[D] 44§37 i - 5 F Ji \K—B SR P i Gl B
(AT % (A) = (B) (B)#4r » it & F i ki>ky
O 7 > ki=k, D) F B F 20 ~ §F ik Fahitdicfe

K1
[A]45. %08 %5 8§ W F st 5 A@ < $$F@W%ﬁH$A@aEi%mw$qu‘Cﬁ
Kz
ERA S (A] ~ (B e (C)  BIF Rt AQif 423 F(-d (AL /d)» T7 %7 mHLFE?

(A) (K1 +Ky) [A) B) (Ki—Ky) (A)

(C) (Ki/Ky) [A) (D) (Ky/Ky) [A)
[D] 46. #+ = & Ji& % (Batch reactor) sk gL 5 = 9

(A)f§ ¥ (B)& # v P { 4%

(O % 3 (D)% 1 3k it % 4

[BCJ47. 7 715 M M F opifi 2% > P 2/ ?
(A)f &=+ 5 %I"‘p@ﬁ_smhkﬁ@
(B)- #F 1,?&/’: + B3 A4y & Do g A Al AR F
(O)F e+ & F 3R ¥ '3 - 23w il r B
(D)); )"%4—”4\—+ TE 3 7&]10\31{11;}1‘)}/5% Flde K f@;

[B] 48, 51t & 4 Sk s fe i R K+ T At v 2 A2
(A)F TLez s & 30 L 5 e s
(B) e v & 7 i AR
(C)it Fwrgx f 17§
(D) B B A7 H 4 e eh 3R o £

WM9ﬁ%Fﬁ%%§ﬁ’u@ﬁ%ﬁﬁﬁ@%mﬁmﬁﬁ%mﬁﬁ@Wmmwﬁwm»Tﬂ@

A
(MF@#% ORI B RGNS R
Bk "B F BRI EALE; Timﬁ”%’”“@ﬁ%#ﬁﬁ@ E
(C)i FH+H F R B Rg sp #BF /@
D)tk i ds F i B Ff

[D]50. 5 B i gengcit > ™ 7] H 5 J’—?
(A)c 5 e ¥ B2 7 1t i
B)fFLL? 27 4 L R 2ok 4?4
(O)fF 47 & (positive)fd #i-fr f (negative)f§ 42 ~
(D)sc & % ¥ Hie

o

[+ 8 2 Brgasd % 47 x4 7F



